‘Q‘\@N\ Paper / Subject Code: 71801 / Strategic Management \\O 2_

Duration: 2 hours Total Marks: 60
Note: 1. All questions are compulsory.

2. Figures to the right indicate full marks,

QI a. Define Strategic Management. Discuss briefly the process of strategic management. 15
b. “Strategy can be formulated on three different levels”. Explain briefly
OR
With the help of examples, explain the varicus components of business 15
environment in detail.
Q2 a. Explain the turnaround strategy in detail. 15
b. Discuss General Electric (GE) Nine Cell Matrix as a technique of corporate
portfolio analysis.
OR
What is budgetary control? Explain its advantages and limitations. 15
Q3 a.  What are the external factors influencing corporate renewal strategy? 15
b. Elaborate on the importance of the strategic alliance.
OR
Elucidate the advantages and limitations of the Information Technology sector in 15
Indian business.
Q4 A. Select the appropriate option and fill in the blanks 5
1) Dividend strategy is a - strategy.
(Marketing, Human Resource, Financial, Production)
2) is a type of internal growth strategy.
(Merger, Acquisition, Foreign Collaboration, Diversification)
3) In- model there is a lack of cooperation on the part of the other
party.

(Turnkey project, Turnaround, PPP, BCG)

4) For disaster response, financial support will be maintained through the ----s-e-cumm-
(Disaster Relief Emergency Fund, Disaster Remuneration Fund, Disaster Relief
ecological Fund, Disaster Relief Environment Fund)

5) is the fundamental radical design of business processes.

(Reconciliation, Retrenchment, Revolution, Reengineering)
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Paper / Subject Code: 71801/ Strategic Management

State whether the follpyving statements are True or False:

Mission is a statement%m' organisational philosophy.

ETOP is a technique used for analysing business environment,

Private Public Partnership projects facilitates in economic growth of nation.
Business Process Outsourcing is a part of Knowledge Process Outsourcing.

Natural disasters are bound by borders of a nation or a state.

Match the following:

Functional Strategy a. Riots

Question marks b. Promotion of entrepreneurship

Strategic Alliance c. High industry growth rate & Low
market share

Manmade disaster d. Marketing Strategy

Start-up India Movement e. Joint Venture

OR

Write Short Notes on : ( Any 3)
Reasons for growing outsourcing in India.
Operational Reengineering.

Problems of disaster management.
Business start-ups.

Growth prospects in Make in India model.
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(2 Hours) i f[Tot‘al"Marksv 60] i
Please check whether you have got the right question paper.

1)  All questions are Compulsory. A ‘

2)  Figures to the right indicate full marks.

3) Draw neat diagrams wherever necessary. .

Explain Bandwagon and Snob effects on market demand. - S . (08)
Describe the determinants of supply in brief. -~ BT ST S RO
Explain minimum floor and maximum ceiling pricing control: -~ & o o - (98)
Explain the consumer’s equilibrium with: e help of indifference ot nd 2
line. S

State and explain the law of‘véﬁiaﬁl'e_.ﬁropdftibxi: B T R (08)
Discuss various types of internal and external economies of scale: 07
Diagrammatically explain least cost factor combination for a givén outptit. (08)
From given informat’ion’-c'alc'ulate‘\TC, AFC, AVC, AC and MCif TFC is 50. ©7)
Q(Units) {0 - |4 7. 2. - |3 14 15 |6
TVC(z) |0 - |to- |18 ~ [24 36 . |50 80

Explain the Shortrun eqpili}ariuﬁqu a firm -undgi* perfect competition. (08)
Discuss the Dumping as an iriternational price discrimination in the world 07)

market, 575 e

(08)

sultabledlagram : &

S > Howing paragraph and:‘a’r‘_lsw“er the given questions. 07)

7 Ajay and Amay are arrested by ci't:y'pg)ﬁce in bank robbery case. The police do not

S s L

J commumcanon "_betweén_‘ them However, the evidence is such that if both the |
* - _suspects do not confess each will get 3 years of maximum sentence in prison. The

have eniough evidence to charge them of robbery. Both the suspects were

interrogated separately in different rooms and not allowed in any kind of

bmi‘se‘d,.ea;jh;_»s'psﬁpccft_:si that by confessing he or she will go free while the
suspécts who does not-confess will receive a full 20 years of sentence. If
scts: confess each one will get a mild punishment of 5 years.

tions: g

.,%"'Dvi'séufsf;hé» dilemma of both suspects

‘What is the:dominant strategy available to both suspects?

pare a pay-off matrix for suspects Ajay and Amay.
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Paper / Subject Code: 71802 / Economics for Business Decision

4. a) Chose the correct alternatives from the following and rewrite the statements:-. 07)
i) is known as the theory of distribution. ‘ ' v
a) Product pricing b) Economic welfare
¢) Factor pricing d) Employment ‘ ‘ &
ii)  Cost owned by the entrepreneurs himself is known as cost.
a) Explicit b) Real
¢) Implicit d) Marginal -
iii) _is an universal economic problem. ’
a) Wants b) Resources
c) Scarcity d). Abundance
iv)  Market failure take place due do Ty
a) Externalities b) Lack of merit goods
¢) Monopoly power - d) Allof theabove
v)  Macro-economics deals with .
a) Firm "~ "b) Whole economy
c¢) Households - -~ d) None of the above -
vi)  Production posmbxhty curve con51st . -asp,ec't of production
management. : o o
a) Opportunity cost . b) ',Scarmty
¢) Choicew &5 v o dy Allofthe above
vii) Marginal product 15 calculated by :
a) ATU e
TAQ i AQ .
o AP ' d) ATR
AQ AQ
b) Give precise meaning of the following :- (08)
<) Incremental pringiple -
i) Econom1c cost :
RS tiv) Pubhc grods
1v) Inv131ble hand
3’ : 5 & SOR
4 Wnte short notes on any Three of the followmg - (15)

. a) Scarc1ty and efficiency. prmmple
;;b) Sources of market failure

c) Paradox of Bumper harvest
d) Leaming curve

~€)  Sources of monopoly power
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N. B.:

/ Paper / Subject Code: 71803 / Cost & Management Accounting

o (0 WO

Time: 2 Hours Total Marks: 60
(1) All questions are compulsory carrying equal marks.
(2) Support your answer with required working notes.
(3) Round off upto two decimal points.
(3) Use of simple calculator is allowed.

From the following information and the assumption that the balance in hand on

1% January is Rs.72, 500. Prepare Cash Budget. [15 Marks]
Month Sales | Materials | Wages Selling & | Production | Administration

Distribution Cost | Cosit

Rs. Rs. Rs. | - Rs. o RS R, |
January 72,000 25,000 | 10,0001 4,000 © 6,000 - o 1,500
February | 97,000 31,000 | 12,100 5,000 6,300 1,700
March 86,000 25,500 | 10,600 5,500 6,000 2,000
April 88,600 30,600 | 25,000 6,700 6,500 2,200
May 1,02,500 37,000 | 22,000 8,500 8,000 ‘ 2,500
June 1,08,700 38,800 | 23,000 9,000 8,200 2,500

Assume that 50% are Cash Sales, Assets are to be acquired in the month of February and April.
Therefore provision should be made for the payment of Rs.40,000 and Rs.25,000 for the same.
An application has been made to the Bank for the grant of loan of Rs.30,000 and it is hoped that
it will be received in the month of May.

It is anticipated that a dividend of Rs.35,000 will be paid in June. Debtors. are allowed | month
credit. Sales Commission @ 2% on Cash Sales and 5% on cash collection from Debtors is to be

paid.
Creditors (for Goods or Overheads) grant one month credrt
Y OR
Draw up a ﬂex1ble budge; for owerhead €Xpenses on the basis of the following data
and determine the overhead rates at 70%, 80% and 90% plant capacity. {15 Marks]
Particulars 80% Capacity Level (Rs.)
Variable Overheads:
Indirect Labour 12,000
Stores including spares : 4,000
Semi-Variable Overheads:
| Power (30% Fixed, 70% Variable) 20,000
: Répairs and Maintenance (60% Fixed, 40% Variable) 2,000
Fixed Overheads:
Depreclauon 11,000
| Insurance o e 3,000
' Salaries: &0 0 : 10,000
. | Total Overheads 62,000
il Estlmated Dlrect Labour Hours ; 1,24,000 Hours

3,

Mr.A owns a bus which runs between Mumbai and Pune and back for 10 days in a month. The
distance from Mumbai to Pune is 200 Kms. The bus completes the trip» from Mumbai to Pune and

- back on the same day. The bus goes another 10 days in a month to Ratnagiri and the distance

62370

covered being 350 Kms. The trip is also completed on the same day. For the rest of 4 days it runs
in the local cxty Daily distance covered in local city is 100 Kms. [15 Marks]
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3.

Find out:

(i)
(ii)
(iii)
(iv)
W

3.

62370

¥ Dxrect Materlals

S BE TESEI £ Rs.6

1-B Sy 6 hours at Rs.2 per hour

Paper / Subject Code: 71803 / Cost & Management Accounting

Calculate the rate Mr. A should charge per trip from passenger when he wants to earn a profit of
50% on cost. ‘
The other particulars are given below:

Cost of Bus Rs.9,00,000

Depreciation 20% per annum

Salary of Driver Rs.6,000 per month

Salary of Conductor Rs.5,000 per month

Salary of Accountant Rs.2,000 per month

Diesel Consumption 6 Kms per litre costing Rs.8 per litre
Tax Rs.9,600 per annum

Repairs Rs.3,000 per month

Normal capacity of the bus is 50 Passengers :
The bus is generally occupied 90% of the capacity when 1t goes to Pune and 80% when it goes to
Ratnagiri. It is always full when it runs within the city.
OR
A manufacturing company uses the following standard mix of their compound in one batch of
100 kgs of its production line: [15 Marks]
50 kgs of material X at the standard price of Rs.2
30 kgs of material Y at the standard price of Rs.3
20 kgs of material Z at the standard price of Rs.4
The actual mix for a batch of 110:kgs was as follows:
60 kgs of material X at the price of Rs.3
40 kgs of material Y at the price of RS.Z.S
10 kgs of material Z at the price of Rs.3
Calculate the different material variances. '
Following 1nto1mat10n is furnished by Himesh Ltd: : [15 Marks]

Sales. | Profit

Year 205,if7" T [ Rs 120000 | Rs.8,000
YVear 2018 Rs 1,40,000 Rs. 13,000

Profit Volume Ratio.

Break Even Point (BEP).

Profit when sales are Rs 1,80,000
'Sales to earn profit of Rs. 12,000
~Margin of Safety in the year 2018.

W ’ OR

Following information has been made available from the cost records of a company
manufacturing spare parts: [1:5 Marks]
Particulars : - Per Units

AT S o i g ‘ Rs.8

Direct Wage ,
-A i - 4 hours at Rs.2 per hour

Variable Overheads 150% of wages

Fixed: Overheads Rs.750
Selling Price of A Rs.30

Selling Price of B Rs.35
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Paper / Subject Code: 71803 / Cost & Management Accounting

The directors want to be acquainted with the desirability of adoptmg any one Of the followmg
alternative sales mixes in the budget for the next period: ; ‘
(1) 250 units of A and 250 units of B
(i) 400 units of B only
(ili) 400 units of A and 100 units of B
(iv) 150 units of A and 350 units of B

State which of the alternative sales mixes you would recommend to the management

4. (A) Rewrite the entire sentence selecting the most apptopriate alternative with the given serial
no.s without altering the order/sequence: : - - [08 Marks}
1. Contribution is equal to
(a) Fixed Cost + Profit
(b) Sales — Variable Cost
(¢) Fixed Cost — Loss
(d) All the above

2. An estimate of what cost should be is known as._
(a) Actual Cost
(b) Ideal Cost
(c) Standard Cost
(d) Forecast Cost

3. The classification of fixed and variable cost has a special significance in the preparation of

(a) Flexible Budget
(b) Cash Budget

(c) Capital Budget

(d) Zero-Based Budget

4. XL Costlng isthe method used to ascertain the cost of providing a service such
as transport, hotel hospital, gas or. electncuty
(a) Contract
(b) Operating -

& 1 f6) Process:

@b

- :Matemal Cost Vanance is equal te
(2 MPV + MUV '
(b MUV + MYV
S () MYV MPV
(d) MPV ¥ MUV + \/lYV

6. ExceSs ,o.f actual cost over standard cost is a
(a) Favourable Variance
(b Unfavourable Variance
5 (= ) Abnormal Gain.-
- {d) None of the above




Paper / Subject Code: 71803 / Cost & Management Accounting

7. Variablecost
(a) Remain fixed
(b) Varies per unit
(c) Remains fixed per unit

(d) None of these

8. Costofpetrolis__
(a) Fixed cost
(b) Running cost
(c) Semi variable cost
(d) None of these

(B) Match the following by rewriting the columns A & B by matching on

62370

[07 Marks]

an overall most appropriate basis:
A B
1. Marginal Cost a. Future Oriented
2. BEP b. Per Passenger -K.M
3. Cost reduction o Variable Cost
4. 1dle time variance d. No profit, No loss stage
5. Master Budget e. Summary of all functional
budgets
6. Budget f. Process of reducing cost
7. Passenger transport g, Always Unfavourable
OR
. Write Short Notes on-any Three:
P/V Ratic . . .
Applicability of Standard Costing
Objectives of Budgetary Control
Operating Costing of Transport Services
Functions of a Cash Budget
s ks ool R ok sk R R ok
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[Time : 2 Hours]

Please check whether you have got the right question paper
N.B: 1. All the questions are compulsory .
2. Figures to the right indicate full marks =

Answer any Two of the following : :
a) Explain the need and importance of Business Ethlcs RSN
b) Discuss in detail about Ethics Committee. :

OR &%
¢) Describe the various approaches to Busmes“"Et _' »c;s-.,;
d) Discuss the Gandhian approach of Trusteeshlp ;

Answer any Two of the following :
a) Write a note on Ethical practlces in-finance and accountmg
b) Discuss unethical practices in advemsmg

Answer any Two of the foll
a) Write a note on Corporate
b) Explain in detail the_, impo

¢) Comment on th" ‘ ﬁlture of
d) Discuss the models for 1m

State whether\the
a) Busmess

";payment of dues helps to buIId good relations with suppliers.
KR rmgs soc1‘al change in the somety

4] Vi _}SA SQQO“ guldehnes are in respect of working conditions in the
(NGO;. Supply Chain, Government)
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Match the Pairs:
Group A ‘ Group, »
1. | Source of Ethics a) | Good working conditions.
2. | Promotion Ethics b) | Religion. e
3. | CSR towards c) |Fair Advertising.
Employees T
b oce &) [ Account Ability Organizations | - .
5. | AA 1000 ) | LR PaDazm.c

OR =

Write short notes (any three)
a) SA 8000.
b) Functions of UNDP.
¢) Major Codes on CSR.
d) UN Global Compact Principlés
e) CSR through Triple Line in Bus

15
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